Current statement (with only typographical corrections) from the Fall 2006 Catalog Addendum:

Summer Overload Worksheet for Undergraduates

Complete for each six-week block in which you are taking courses.

(1) Total units of six-week courses taken during the block:
 _____ x 2 = _____ (a)

(2) Total units of twelve-week courses taken: 

 
 _____ x 1 = _____ (b)

(3) Add the numbers in (a) and (b)1. 


   
    (a) + (b) = _____ (c)

If the number in (c) is 15 or less in each six-week block, then no approval is required

to enroll for courses. If the number in (c) is larger than 15, then you must obtain the

approval of their academic advisor. If such requests are denied, appeals may be

made to your college dean. In general, only students with superior academic records

and a demonstrated need for such excess enrollment will be allowed to enroll for

course loads that make the number in (c) more than 15.

Note that if the number in (c) is 15, then the course load carries with it a commitment

of 57 hours each week. Students unable to devote this much time to their classes

and study should enroll for fewer units.

1 The number in (c) is your number of Summer Schedule Units (SSU). SSU multiplied by

3.75 is approximately the number of hours per week that you should commit to classes and

study during the summer session.
Changes:
six-week
(  five week


twelve-week 
(  ten-week


15 
(  13


3.75 
(  4.5


57 
(  58.5
The old (and still intact) policy allows students to take up to 19 units in a regular 15-week semester without needing permission.

Let N(k) be the number of units taken in a term of length k weeks (with k<15).

The intensities of the courses should be inversely proportional to the lengths of the terms, so
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With n=2, 
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, this gives the current relation:
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or, after multiplying through by 
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 and simplifying,
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which we express as saying that as long as
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no permission is required.

With the shorter summer terms, we now have n=2, 
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or, after multiplying through by 
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 and simplifying,
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which I propose to represent by saying that as long as
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then no permission is required.

Finally, when multiplied by 3, 
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represents the number of hours that should be committed to classes and study (in the case n=1 and 
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, this represents advice to spend two hours out of class for each hour of class lecture) – called the number of Summer Schedule Units by the current policy. Thus the quantity 2N(5) + N(10) needs to be multiplied by 3*(3/2) = 4.5 to yield the number of Summer Schedule Units for a summer schedule with the shorter terms, just as we currently multiply 2N(6) + N(12) by 3*(5/4) = 3.75 to yield the number of Summer Schedule Units.
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